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	1 вариант
	2 вариант

	1. Choose the right variant.      … time is it now?
	1. Complete the sentence. He … be free next week.

	a)Where
	a)Am

	b)What
	b)Will

	c)When
	c)Was

	d)How
	d)Are

	e)Why
	e)Were

	2. Find the ordinal numeral:
	2. Add the sentence. Where is … (моя) Book?

	a)Five
	a)Its

	b)The eighth
	b)You

	c)Three
	c)Their

	d)Twelve
	d)My

	e)A hundred
	e)Our

	3. Complete the sentence. He translates letters into English very … .
	3. Complete the sentence. This is my sister.  … name is Saule.

	a)Few
	a)His

	b)Much
	b)Hers

	c)Little
	c)Her

	d)Often
	d)They

	4. Choose the right variant
The year “1917”.
	4. Choose the right variant: "The 172 -nd".

	a)One thousand nine hundred and seventeen
	a)the one hundred and seventy-two

	b)One thousand nine hundred seventeen
	b)the one hundred and seventieth-two

	c)Nineteen seventeen
	c)the one hundred and seventy -second

	d)One thousand and seventeen
	d)the one hundredth and seventieth-two

	
	e)the one hundredth seventy-second

	5. Find the right variant: Seventy minus fifty-five is....
	5. Give the right answer:
twenty + twenty – five = ?

	a)fifteen
	a)Thirty-five

	b)five
	b)Seventy-five

	c)fivety
	c)Twenty-five

	d)two
	d)Forty-five

	e)setventy
	e)Fifty-five

	6. Choose the right variant. The president of the USA lives and works in ....
	6. Choose the right variant. The richest part of London is ....

	a)The Lincoln Memorial
	a)South

	b)The Capitol
	b)West End

	c)The Houses of Parliament
	c)East End

	d)the White House
	d)The City

	7. Find the right antonym: «busy»:
	7. Find the right antonym "dark":

	a)slightly
	a)black

	b)cozy
	b)red

	c)quick
	c)green

	d)easy
	d)fair

	8. Choose the right variant. The Head of the USA is...:
	8. Choose the right variant. What is "White house"?

	a)the King
	a)the residence of president

	b)the President
	b)house where people live

	c)the Queen
	c)University

	d)the Prime Minister
	d)the resident of Indians

	9. Indicate the correct answer What is the capital of England:
	9. Choose the right variant: The UK can be divided into 4 parts:

	a)London.
	a)Scotland, Greenland, Wales and Northern Ireland.

	b)Cardiff.
	b)Scotland, England, Wales and Northern Ireland.

	c)Belfast.
	c)Sweden, England, Wales and Northern.

	d)Dublin.
	d)California, Scotland, England and Wales.

	e)Birmingham.
	e)Australia, England, Wales and Scotland.

	10. Choose the right variant. The capital of Scotland is ….
	10. Choose the right variant. What is the highest building in Washington?

	a)Manchester
	a)Rockefeller Centre

	b)Edinburgh
	b)Capitol

	c)London
	c)National Gallery

	d)New York
	d)the White House

	e)Birmingham
	e)the Empire State Building




